

$$\sec x - \tan^2 x = 1 \Rightarrow \sec x = 1 + \tan^2 x \Rightarrow \sec x = 1 + \frac{1}{\cos^2 x} \Rightarrow \sec x = \frac{1}{\cos^2 x} \Rightarrow \cos x = \frac{1}{\sqrt{2}}$$

۱۹، ۵
آفرین

$$x = 2k\pi \pm \frac{\pi}{4}$$



$$x = \frac{\pi}{4}, \frac{5\pi}{4}$$

دو جواب

۲

$$\omega \sin^2(x) + 2 \cos(3x) = -2 \quad [-\pi, \pi]$$

$$\omega(1 - \cos^2 x) + 2(\cos^3 x - \cos x) = -2$$

$$1 \cos^3 x - \omega \cos^2 x - 2 \cos x + 2 = 0$$

$$\Rightarrow (\cos x + 1)(1 \cos^2 x - 1 \cos x + 1) = 0$$

$$\cos x = -1 \Rightarrow x = 2k\pi + \pi \Rightarrow x = \pi, -\pi \quad \text{دو جواب}$$

$$2 \sin x \cos 2x + \sin x = 1$$

$$2 \sin x (1 - \sin^2 x) + \sin x = 1$$

$$2 \sin^3 x - 2 \sin x + \sin x + 1 = 0 \Rightarrow 2 \sin^3 x - \sin x + 1 = 0$$

$$\Rightarrow (\sin x + 1)(2 \sin^2 x - \sin x + 1) = 0$$

$$\sin x = -1 \Rightarrow x = 2k\pi + \pi$$

$$\sin x = \frac{1}{2} \Rightarrow x = 2k\pi + \frac{\pi}{6}, \frac{5\pi}{6}$$

$$x = 2k\pi + \frac{5\pi}{6}$$

$$S = \frac{\omega}{2}$$

$$x = \frac{\pi}{4}, \frac{5\pi}{4}, \frac{3\pi}{4}, \frac{7\pi}{4}$$

$$\frac{1}{\sin(\frac{\pi}{2} + x)} + \frac{1}{\cos(\frac{\pi}{2} + x)} = 0 \Rightarrow \frac{1}{\cos x} - \frac{1}{\sin x} = 0$$

$$\frac{\sin x - \cos x}{\cos x \sin x} = 0$$

$$\cos x \neq 0 \Rightarrow x \neq k\pi + \frac{\pi}{2} \Rightarrow x \neq \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\sin x \neq 0 \Rightarrow x \neq k\pi \Rightarrow x \neq 0, \pi$$

$$\Rightarrow x = \frac{\pi}{4}, \frac{5\pi}{4}, \frac{3\pi}{4}, \frac{7\pi}{4} \quad \tan x = -1$$

$$\sin 2x = \cos x \Rightarrow \sin(\frac{\pi}{2} - x) = \cos x$$

$$2x = 2k\pi + \frac{\pi}{2} - x \Rightarrow 3x = 2k\pi + \frac{\pi}{2} \Rightarrow x = \frac{2k\pi}{3} + \frac{\pi}{6}$$

$$\Rightarrow x = \frac{\pi}{6}, \frac{5\pi}{6}, \frac{3\pi}{2}, \frac{7\pi}{6}$$

$$2x = 2k\pi + \pi - x \Rightarrow 3x = 2k\pi + \pi \Rightarrow x = \frac{2k\pi}{3} + \frac{\pi}{3}$$

$$\Rightarrow x = \frac{\pi}{3}, \frac{2\pi}{3}, \frac{4\pi}{3}, \frac{5\pi}{3}$$

$$m(\cos x - \sin x) - \sqrt{4} \sin 2x = \sqrt{4}$$

$$m(\frac{\sqrt{4}}{2}) - \sqrt{4} = \sqrt{4}$$

$$m = 4$$

$$\cos(x + \frac{\pi}{2}) = \frac{1}{\sqrt{2}}$$

$$\sin(\frac{\pi}{2} - x) = \frac{1}{\sqrt{2}}$$

$$\frac{\sqrt{2}}{2}(\cos x - \sin x) = \frac{1}{\sqrt{2}} \Rightarrow \cos x - \sin x = \frac{1}{\sqrt{2}}$$

$$\frac{\sqrt{2}}{2} \Rightarrow 1 - \sin^2 x = \frac{1}{2} \Rightarrow \sin^2 x = \frac{1}{2} \Rightarrow \sin x = \pm \frac{1}{\sqrt{2}}$$

۱

۲

۳

۴

۵

$$\sin(x + \frac{\pi}{4}) \cos(x - \frac{\pi}{4}) = 1$$

$$\cos(\frac{\pi}{4} - x)$$

$$\sin^2(x + \frac{\pi}{4}) = 1 \rightarrow \begin{cases} \sin(x + \frac{\pi}{4}) = 1 \\ \sin(x + \frac{\pi}{4}) = -1 \end{cases}$$

$$x + \frac{\pi}{4} = 2k\pi + \frac{\pi}{4} \Rightarrow x = 2k\pi$$

$$x + \frac{\pi}{4} = 2k\pi + \frac{3\pi}{4} \Rightarrow x = 2k\pi + \frac{\pi}{2}$$

$$\Rightarrow x = k\pi + \frac{\pi}{4}$$

$$\boxed{x = \frac{\pi}{4} + \frac{2k\pi}{2}}$$

$$\sin x + \sqrt{3} \cos x = \sqrt{4}$$

$$\sin x + \tan \frac{\pi}{6} \cos x = \sqrt{4}$$

$$\frac{\sin(x + \frac{\pi}{6})}{\cos \frac{\pi}{6}} = \sqrt{4} \Rightarrow \sin(x + \frac{\pi}{6}) = \sqrt{4} \cos \frac{\pi}{6}$$

$$x + \frac{\pi}{6} = 2k\pi + \frac{\pi}{6} \Rightarrow x = 2k\pi$$

$$x + \frac{\pi}{6} = 2k\pi + \frac{5\pi}{6} \Rightarrow x = 2k\pi + \frac{2\pi}{3}$$

$$S = \frac{-\frac{\pi}{6} + \frac{2\pi}{3} + \frac{2\pi}{3}}{2} = \frac{\pi}{2}$$

$$x = -\frac{\pi}{12}, \frac{5\pi}{12}$$

$$\Rightarrow -\frac{\pi}{12} \leq x \leq \frac{5\pi}{12}$$

$$x = \frac{\pi}{2}$$

$$\sin x \sin(\frac{\pi}{4} - x) = 1$$

$$[0, \pi]$$

$$\sin x \cos x = 1$$

$$\sin^2 x = 1 \Rightarrow \sin x = \pm 1$$

$$x = 2k\pi + \frac{\pi}{4} \Rightarrow x = \frac{\pi}{4}$$

$$x = 2k\pi + \frac{3\pi}{4} \Rightarrow x = \frac{3\pi}{4}$$

$$S = \frac{\frac{\pi}{4} + \frac{3\pi}{4}}{2} = \frac{\pi}{2}$$

$$(1 + \cos^2 x)(1 + \cos^2 y)(1 + \cos^2 z) = \frac{1}{\lambda}$$

$$(1 + \cos^2 x)(1 + \cos^2 y)(1 + \cos^2 z) = \frac{1}{\lambda}$$

$$\frac{\sin x}{\sin x} \times \frac{\sin y}{\sin y} \times \frac{\sin z}{\sin z} = \frac{1}{\lambda}$$

$$\frac{1}{\lambda} \sin x \sin y \sin z = \frac{1}{\lambda} \Rightarrow \sin x \sin y \sin z = 1$$

$$[0, \pi]$$

$$\lambda \leq 2k\pi + \frac{\pi}{4}$$

$$\lambda \leq \frac{\pi}{4}$$

$$\lambda \leq 2k\pi + \frac{3\pi}{4}$$

$$\lambda \leq \frac{\pi}{4} + \frac{\pi}{4}$$

$$\tan^2 x \tan^2 y = 1 \Rightarrow \tan x = \cot y \Rightarrow \tan x = \tan(\frac{\pi}{2} - y)$$

$$x = k\pi + \frac{\pi}{4} - y = \frac{\pi}{4} - y \Rightarrow x = \frac{\pi}{4} - y$$

$$0 \leq x \leq \pi \Rightarrow 0 \leq \frac{\pi}{4} - y \leq \pi$$

$$1 \leq \frac{\pi}{4} + \frac{1}{\lambda} \leq \pi \Rightarrow \frac{1}{\lambda} \leq \pi - \frac{\pi}{4}$$

$$x = \frac{\pi}{4} + \frac{\pi}{4}, \frac{\pi}{4} + \frac{\pi}{4}, \frac{\pi}{4} + \frac{\pi}{4}, \frac{\pi}{4} + \frac{\pi}{4}$$

$$S = \frac{\pi}{4}$$

$$n = 1, 2, 3, 4$$

(9)

$$1 + C \cdot S \gamma \star = \gamma C \cdot S \gamma \star$$

$$\int 1 + C \cdot S \gamma \alpha = \gamma C \cdot S \gamma \alpha$$

$$\left\{ \begin{array}{l} 1 + C \cdot S \gamma \alpha = \gamma C \cdot S \gamma \alpha \\ 1 + C \cdot S \epsilon \alpha = \gamma C \cdot S \epsilon \alpha \\ 1 + C \cdot S \lambda \alpha = \gamma C \cdot S \epsilon \alpha \end{array} \right\} \rightarrow \wedge C \cdot S \gamma \alpha C \cdot S \gamma \alpha C \cdot S \epsilon \alpha = \frac{1}{\wedge}$$

$$C \cdot S \gamma \alpha C \cdot S \gamma \alpha C \cdot S \epsilon \alpha = \frac{1}{4f} \xrightarrow{\sqrt{}} C \cdot S \alpha C \cdot S \gamma \alpha C \cdot S \epsilon \alpha = \frac{\pm 1}{\wedge} \xrightarrow[\text{Sin} \alpha \neq 0]{\times \text{Sin} \alpha \star}$$

$$\underbrace{(\text{Sin} \alpha C \cdot S \alpha)}_{\text{Sin} \gamma \alpha} C \cdot S \gamma \alpha C \cdot S \epsilon \alpha = \pm \frac{\text{Sin} \alpha}{\wedge} \rightarrow \frac{1}{\gamma} \underbrace{(\text{Sin} \gamma \alpha C \cdot S \gamma \alpha)}_{\frac{1}{\gamma} \text{Sin} \epsilon \alpha} C \cdot S \epsilon \alpha = \pm \frac{\text{Sin} \alpha}{\wedge}$$

$$\frac{1}{\gamma} \times \frac{1}{\gamma} \underbrace{(\text{Sin} \epsilon \alpha C \cdot S \epsilon \alpha)}_{\text{Sin} \lambda \alpha} = \pm \frac{\text{Sin} \alpha}{\wedge} \rightarrow \frac{1}{\wedge} \text{Sin} \lambda \alpha = \pm \frac{\text{Sin} \alpha}{\wedge}$$

$$\text{Sin} \lambda \alpha = \pm \text{Sin} \alpha \rightarrow \left\{ \begin{array}{l} \lambda \alpha = \gamma K \pi + \alpha \leq \gamma K \pi + \pi - \alpha \\ \lambda \alpha = \gamma K \pi - \alpha \leq \gamma K \pi + \pi + \alpha \end{array} \right.$$

$$\alpha = \frac{\gamma K \pi}{\gamma} \xrightarrow{\text{MANA}} K = 3 \rightarrow n = \frac{4\pi}{\gamma}$$

$$\alpha = \frac{\gamma K \pi}{a} \xrightarrow{\text{MANA}} K = 4 \rightarrow n = \frac{1\pi}{a}$$

$$\alpha = \frac{(\gamma K + 1) \pi}{\gamma} \xrightarrow{\text{MANA}} K = 2 \rightarrow n = \frac{3\pi}{\gamma}$$

$$\alpha = \frac{(\gamma K + 1) \pi}{a} \xrightarrow{\text{MANA}} K = 3 \rightarrow n = \frac{5\pi}{a}$$

$$\rightarrow \boxed{\text{MANA} = \frac{1\pi}{a}}$$

★ A نمی تواند برابر خود n باشد چون طبق $\star \text{Sin} \alpha$ اصفاف صفر در فضا گرفته ایم!